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Math 265B: Test 2 (Spring 2020-Wright) Name:

For maximum credit, please show all of your work in a clear, logical manner. Simplify all answers as much as possible.

In-class: /80 points Take Home: /20 points

Helpful Identities:  sin’ g =1(1—cos2¢)  cos’ ¢ =1(1+cos2¢)

sin2a = 2sina@ cos & cos2a =cos’ @ —sin’ a
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(b) Could you use Trig Substitution? YES NO
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If yes, what would u be? /\/O : '/L Ap s !'() = 55 ,.ﬂ" i , P ‘zb l
,(, \’1 Y S s ';‘L(.’ @ ra.n o{1
TP wmx®oll o oy = 2
| _‘>/'“/€.)fl an X (n The
l/ ‘-é" QD Ve ..‘4,»7/ "
2. (2 pts) Suppose you made the Trig Substitution of x = 2siné in an integral. <) S

Which of the following would be true? Show work for credit! | _ X e .
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5. (8 pts) Use Identities to integrate:
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6. (8 pts) Use Trig Substitution to evaluate the definite integral: I 7ax X 5 =1 6 >

x:
5@36&@ >
&




rC 5 L g_v\o‘\(e \D

ever *OW \/"F\) 5 (&) - cos 2 (%)

—~ \—cosl Zk\ | cos (24)

7. (8 pts) Use Identities to integrate: I sin’ () cos® (¢)dt
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8. (4 pts) How do you check (by hand!) that an integration was done correctly? é%&cgﬂ i |2 E ; Sl

Check whether the integration below is correct. Show work for credit @ check by integrating! )
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9. (6 pts) Evaluate the definite integral. Show work for credit. Leave your answer exact (in terms of “In”).
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10. (16 pts) A formula for Trap(n) is Trap(n) = EM Ax
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(a) Show how this formula can be rewritten as T rap(n) = [-‘- fx)+ Z flx)+1 £ (Jh}]

Do this by expandmg the first few terms of the first summatlon formuia,
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(b) Find Trap(2) to estimate the value of. I16 x” dx . Tllustrates Trap(2) on
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(¢) Find the error and absolute error of your estnmahon in (b).
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(d) If the number of subdivisions, n, were increased to be n = 20, R
by what factor would the error be reduced? y Answer: / 0 =/ 00
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from the previous parts of this problem. Answer:

? :’,’.‘02667'




